aiEEa

ol

449,2 + 100 =
3% 1003 =
808,2+ 1002 =
303,5 x 1072 =
1002 =
397,1+ 10 =
—1x 10* =

840 + 1001 =
103 =

1004 =

Aagull NGBS

100D =
1 x 1002 =
100D =

401 x 1079 =
526,6 x 107 =
3x10% =
—1x10 =

1009 =

3% 10° =

100D =
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i 4 =T a. 10 sttt o

pal: Al
449,2 + 107 = 449200 1077 =0.1
3 x 107 =0.003 1x 1072 =0.01
8082+ 100 = 80820 1077 = 0.1
303,5 x 1072 = 3.035 401 x 10% = 0.0401
1072 = 0.01 526,6 x 107 = 0.5266
397,1+ 10* = 3.971 3 x 10% =300
—1x10%* =-100 ~1x10=-10
840 + 100 = 8400 107 = 0.0001
107 = 0.001 3 x 10% = 300
107 = 0.0001 107 = 0.1
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